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ooboooooooog

1. 0000000000000 0O0000000000DOOO0O0O0O0O000 (x1,y1)0
0000000000 yo(r,y1) 000 ¢(n, 1) 000000000000 0O0O0OO
goboboboob

2. 000000 (21,y) 000 o(zr,y1) 000 ¢(z1,y) 000000000000
(z2, 42) 0000 \/o(za, y2) 000 ¢(zs, 1) 000 0000000000000000
O (z1=2, y2=9,) 0000000000000 00000000COO

0 DT #F X,
5(m1—x2,y1—y2):{ 1 . xiiwz ziizz (3.3)

. 0b0boonooobobonoboboobob s~80000ooboboobonboon
00000 [-nr,x0000000000O0ODOO

boboboboobooboobooobo
ubooboooboobooboobobooboobooobod

(a(z,y)) = (Vol(z,y))(cos(d(z,y)) + isin((z,y)))
=0 (3.4)

000000000300000 ¢0 [-m,7]000000000000 (cos(¢)) = (sin(¢)) =0
0000000000000000000000

(a(z,y1)a"(x2,y2)) = (Vo(a1,11) Vo (x2,y2))
{(cos(p(w1,y1) — ¢(w2,y2))) + i(sin(d(w1,y1) — d(72,2)))} (3.5)
D000¢000000000000000000000 ¢(z1,y1) —¢(ze,y2) 000000
000000000000 0000o0o0000oo0ooLObO0ooooo oD OoOoooo

200z =2,y =y 000000000000 000O0ODOODOODOOOOOOODODO
ooooo

(a(z1,y1)a" (w2, 92)) = (Vo(w1,y1) Vo (x2,52)) 6 (21— 22, y1—y2) (3.6)
oo0oooooooo

3.3 Jubuobooooooon

3.3.1 0gdoooooogoon

googogooobobooobooboooboobobooooooboboboboboooonoo
0000000000000000000000ODO000D0UoooooOoOO0oO 3.1)oo

AX,)Y) = //_OO a(z,Y)Ear(X —2,Y —y) dzdy (3.7)
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00000o0oooooDon0 Epapb 200000000
Esr(X,Y) = Ea(X) Er(Y) (3.8)

O0FEA(X)O Er(Y)ODODOODO (21900 (28)00000000000000000O0ODO
00000000 3.7000000000000000 PSFOOODOOODOOO (ODODO
0) 000 convolution integral 0 0 0000000000000 ODOOOOO SARODOODO
oobooooooooooooooooooooo

0000000000 0o00o00oo0o0oo0ooooooo0oon 370

A(X) = /_ " @) Ea(X — 1) da (3.9)
gobooboobobooboobobon
(A(Xl)A*(X2)> = </_ooa(.%‘1)EA(X1 — xl)dxl /ooa*(xg)Ejﬁl(Xg — xQ)dx2>

—0o0

= //OO (a($1)a*($2)> EA(X1 — xl) EZ(XQ — .%‘2) dridzs (3.10)

0000000 (a(z1)a*(22)) 000000000 2y =2,000000000000 (3.6) 0
0000000000

< (1‘1 \/ 1‘1 \ O 1‘2 561 —562 (311)

00000000 (3.11)00 (3.10)000002,00000000% =a10(0) = (o(z)) 00
00

(A(Xl)A (X2 / EA X1 —.%‘) EA(X2 —.%‘) dx (312)
00000000 (21700 (2.18)00 E400 (3.12) 000000
(A(X1)A"(X2)) = (0)|Eo|? /jo dz /jo dty rect (t1/Ta) exp (— z%(Xl —z)%)exp (—ig(Xl —xz)t1)
'J(i: dtgrect*Ug/Th)eXp(ligg()(g——x) )exp(i%g()(g——x)tz)
= c7)|E0|2/Oo dzx //Oodtldt2 rect (t1/Ta) rect”™ (t2/Ta)
Vi (X7 - X3)) el‘p(—ig(Xltl — Xotz))
X1 —Xo+ Vit — Vtz) x) (3.13)

-exp (—

exp (i 25 (

gboboobooobooobooboooboboobobob c000DbDO0OO0OODODOOD
oo

(0.0
/ exp(i%(Xl—Xg +Vit1—Vig) x)dr ~§ (tl—tg +

—00

(X1 —Xp)
)
(X1 —Xy)

=1 : t =ty— %

(3.14)

20



00000 (3.13) 0

(A(X1)A*(X2)) = (0)|Eo|? exp(i %(Xl—)@) )

/ dts rect( ty — Xl_XQ) /TA> rect”(ta/Ta) exp(— z%(Xl —Xs)ta) (3.15)
gooooono XQ)DDDDDDDDDDDDDDDDDVtQDDDDDDDDDD
000

rect ((tg — Xl_XQ) /TA> ~ rect(to/T4) (3.16)
\%4
oo0ooodotsxoooooooooa
(A(X))A*(Xy)) = |A0|2(a> sinc(gTA(Xl—Xg)) (3.17)

000000004 00000O0O0DOOODOOOOOOODOODOOOOOOOOOOOOOO
gbooooooboobobobobobooobooooooboobobobobobobo

ooooa
(A(X)A* (X +X")) = Iy sinc (lx'> (3.18)
pA
ogoooa (2.21)DDDDDDDDDDDDDDDpA:WV/(ﬁTA)DX':Xl—XQDIODD
ooooa

3.3.2 OUgOgOooooboooon

gboooooooooooooooooooooooooooonoo

(I(X1)I(X2)) = (A(X1) A" (X1)A(X2) A" (X2))
M M M M

M2 > > fal Ya(zjn)a* (zjm))

J 1 ]I 1 ]Il 1 ]IH 1
EA(Xy =) B (Xy —zy ) EA(Xo —xjn ) B (Xg —ajm) (3.19)
00000000;000000020000000000000000000000000

gboooooobobobooooooooobooboobooooooobobobobobn
0(3.1990000000000000000000O0

() j=4'#4"=7"000 (MM1)000)
(b) j=4"#7=4"000 (MM-1)000)
(C) j:j':j":j'"DDD (MDDD)

0000000000000 000000000000O0oOOODO0O0OOg(e)oboO MO
good MDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD(3.19)D

(I(X1)I( Mzzz ()0 (z) [|EA(X1—:¢]-)|2\EA(X2—%-,)2
j=1j'=1

+ EA(Xl —.%‘j)E:g(Xl —le)EA(XQ —xj/)EjZl(XQ—wj) (320)
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0000 ({o(z;))0 (o(z;)) 00000D0000000000000000

(o(j)o(wj) = (o(zj))o(z;) = (o) (3.21)

dododoooogoogodd (3.21)DD (S.QO)DDDDDCEDDDDDDDDDD
o0
(I(X)I(X2) = (0)? / / dydey | Ea (X1 —21) | Ea(Xo— )
—0oQ

+ (0)? //_oo do deFa (X — 21 EY(X) —22)Ex(Xo—20) BN (Xo—z1)  (3.22)

Ooooooon
00 2
A1) = (o) [ Ea(i—2)do
. 2
+ <0>/ EA(X,—2)Ey(Xo—x)dz (3.23)
gooooogooon (3.12)DD
(I(X)I(X2)) = (D + [{A(X1) A" (X)) (3.24)

0000000000000 0000000O0O000000000ODO00000OODbOD (3.18)
oo

I(X)I(X + X))
(1)
[(AX)A* (X + X))

(1)

= sinc? (lX'> (3.25)
pa

000000000 sinc®(n/paX')00~10000000000000000000000
o0 ((@CoO0o0o00)Do~1000000
gbobooobooboobbooboobboobogo 2000

Cr(X') = < ~1

Cra(X") Y = <I(X’Y)I(X<;;2XI’Y V) 1 (3.26)

gboobobobooboo n0L,00000000

L(X,Y)L(X 4+ XY +Y7))
(I1)(I2)

Cre(X")Y") = ( -1 (3.27)

gbooboooooog
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3.4 JUoobooooobobbuoooooobod

goooodooooooo200bddoooooooooooouoonooooooa
0oodo100000dooooooodooooooooooddoooooooon 1o
0002000000 ¢t=0000000 -TceOTcoO0O0ODO0OOO0O0D0O0O TyyOOOOOO
gdodooodooooouo 1oL 200000000000 oooooa
0000000000000 ooooDo0oooon
0000000000000 000000000000000O0O0O0000O0O0O0OD (3.24)

RN
(L(X5 =Te) (X5 Te)) = (1) + (A (X5 —Te) A5 (X; To)) |2 (3.28)

000000000000 oooooooooooooooooooonote0nOn
D0z =2:0(0) = {o(z)) 000 O

(A (X; ~Te)A*(X; o)) = |E0|2//_O;da:1da:2 (a(z1)a* (22)) exp <—i (8/V?) ((X—ml)z—(X—arz))2>

- / /_ O:odtldt2 rect((t+T0)/Tan) rect* ((ts—Te) /Tan)

exp (=i2(8/V)(X —21)t1 — (X 1) £2)

— |Bo[2(0) /_ de / /_ thldt2 rect ((tbi+Tc) /Tan) rect” (ts—Te) /Tan)
cexp (=2 (V) (X =) (1 —t2) (3.29)

0000000 0000000000000 0O000000 00000t =¢t0000
(0.0
(A1(X; —To)A*(X;Te)) = |A0|/ rect((t+Tc)/Tan)rect” (t—Tc)/Tan) dt (3.30)

gbooobooboboobobooobooooboboboobobUrect0oboOO
Uboob0obOob0obd0rectOQ

rect((t £Tc)/Ta) =1 : —Tun/2<t+Tc <Tan/2
=0 : otherwise (3.31)

000000 (3.30)0 200 rect 0000000 [-Tun/2+Te, Tan/2 - Te] 000000
000

(A1(X; =Te)A*(X;Te)) = |Aof* [Tan — 2T¢] (3.32)
00000000000000 3200007 =0000000010000200000

000000000000 0000O0rect000 Te =Tan/40000000000000
Tc=00000000000000 ThyyOoDOOoooOobOOooooboooobooobooo

0332000000 10000 2000000000000 0000o
(I1(X; -Te) (X5 Tc))

(I1)?
Oo000Oo 320000000000 000000D000DouooooooOooooouOg rect

gbooboobooboboboooooooooobooboboboboobobobOoboOobo
OTuy <|Te|D0OO0O0O0OO0OO0OOO0OCOOOOOODOD

=1+ |Tan — 2Tc|? (3.33)
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googboboboobooooobgoobooboboooooobobobobooooonoo

U000 rect 000000000 10000 200000000000

LL(X) =Iyrect(X/Xr)
I,(X) = Iyrect(X/Xr)

UoobDL,0000000rectd00

rect(X/Xy) =1 : —-Xp/2<X < Xp/2

=0 : otherwise

ugbobo20000000000000000

Cr(X') = Ig/ LH(X) (X + X")dX
_XT/2

= 13/ rect(X/Xp) rect* (X + X")/Xr)dX
—X71/2
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OooobDoooooooobooboUu0DoOod moving windowDOOOOODOOO20
oooooooon

oobo40000000n=100 n=40000000000000O00LO0ODODO 4203
obobobooooooo 20000000 4190004280000

4.3.2 00

0419000 42800000000 0moving windowD OOODOODOOOD nOOOODOO
gboooooooogog

04190 2x20000000000000000»=4020000000000000
oboooobooboobboooooobobobo 44200 4x4000b000000b0obDObLO
n=400000000000000000O000O00O00O0O00O0O00DO0O0O00O0O00O0O00O0O0OO0OD
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gbobooboobobpobooobooboooobooobboobooboobooobooboaon
423004240 10x10012x 120000000000000000n=30000000
gbobobooboboobobobobdboe=4000000000O0OD0ODODOOODOO
oooobooOobOo42000427r000000000 14x1400 18x18000000DO0O
n=2000000000000000000000000 4280 20x200000 n=10
oboobooboogooon

2x204x400000000000»r=400000000000D0O00O0ODOOO 41
Ub2x204x400000200000000000000000000O00O00O0O0OOO
moving window OO OO0 000000000000 0OO0O0OOOOOOOO0ODOO0OO0OOD
gbooboobooopooboobbobbobboobooboobooboobooboon
gboobood

obooboooboexe6U0b 12x 1200000000 »n=40000000000000
n=40000000000014x1400 20x2000000000000000 =200
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0 4.1: 0000000moving windowD O OODODOOOOO

mean

std

max

n=1

n=2

n=3

n=4

2x2

0.9964

0.3411

2.9975

1.3375

1.6786

2.0197

2.3608

4 x4

1.0012

0.2193

2.3160

1.2205

1.4398

1.6592

1.8785

6 X6

0.9994

0.1473

1.7296

1.1467

1.2939

1.4412

1.5884

8§ x8

1.0020

0.1260

1.6561

1.1280

1.2541

1.3801

1.5062

10 x 10

0.9997

0.1120

2.1649

1.1117

1.2237

1.3357

1.4477

12 x 12

1.0083

0.1025

1.9471

1.1107

1.2132

1.3157

1.4181

14 x 14

1.0158

0.1098

2.1070

1.1256

1.2355

1.3453

1.4551

16 x 16

1.0231

0.1120

1.9166

1.1351

1.2471

1.3591

1.4710

18 x 18

1.0156

0.1093

1.9229

1.1249

1.2342

1.3436

1.4529

20 x 20

1.0332

0.1015

1.8321

1.1347

1.2362

1.3377

1.4391
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(e) n=4

0419 2x200000000000moving windowDOOODOOOOOODOO200000
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(e) n=4

0420: 4x400000000000moving windowDOOODOOOOOODOO 200000
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(e) n=4

O421: 6x600000000000moving windowDOOODOOOOOODOO200000
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(c) n=2 (d) n=3

(e) n=4

0422 8x80 0000000000 moving windowDOOODOOOOOODOO 200000
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90 100 110
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oo
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oo
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oo
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(a) 0000 (b) n=1

(e) n=4

0426: 16 x1600000000000moving windowlODOODOOOOOODODO 2000
oo

48



(a) 0000 (b) n=1

(e) n=4

0427 18x 1800000000000 moving windowl OOODOOOOOODODO 2000
oo
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oo
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(150 Radarsatl] 0000

5.1 Radarsatd O[O

Radarsat 0 19950 110 40000000000C00DOOCOODO0O0OOOO SAROOODO
ubooboobooobooboobooobooboobbobooooobobobobooboonon
OO0DO00DbO0b0oU0DOU0bO0b00 Radarsat OO OOOOOOOOODOOODOO
oooooooboobooboobobboobbodbUbbRadarsat O OO O OOOODOO
gobobgsbbobooobobooobbooobobooobooobobooonooooon
OO00C0OCOOOCOOOO0O0OOOODOO0OUOOOOOOd 500km O ScanSAR ModeO O O O
gbobooboooboobboobboobbooboooobooosboobboonon
oboobs10000

Oooo 7m93km ~0 21km 000000000 0O0OO0OO0OO0OO0O0O0OO0O0O0O0O 240
0000000000 CO000 (000 :53GH000 :5.7m)0 HHOOOOOOOOOO
HHEOOOOOOOOooDOOoobooboobooooooooooboooooooboobooboboo
gboobooboooooooooooooooogog

O 5.1: Radarsat 0 50000000

ooooo 000 (km)| OO0 | OO0 (m)| OOOO
ScanSAR(W) Mode 510 20 ~ 49° | 100 x 100 | 4 ~ 8 look
ScanSAR(N) Mode 305 20 ~ 40° 50 x 50 | 2 ~ 4 look
Wide Beam (1) Mode 165 20 ~ 31° 48 x 28 4 look
Wide Beam (2) Mode 150 31 ~ 39° 32 x 28 4 look
Standard Mode 100 20 ~ 49° 25 x 28 4 look
Fine Resolution Mode 45 37 ~ 48° 11x9 1 look
Extended(H) Mode 75 50 ~ 60° | 22 x 28 4 look
Extended(L) Mode 170 10 ~ 23° 63 x 28 4 look

5.2 JUOO0OO

Oo00oOoi19980 100 2900 Radarsat U OO OO DOUODOOOOOOODOODOODLOOO
OO00D0O000OStandard Mode DD O OOOOO0ODOO20000000000000000
Uboob0obO —200Hz0 200H-000000 543.705H- 000000000 100000
020000000005.10 (0000 100000 200000000 510000
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oooobooooboooooooooooooboOooooooOoonDD 25kmx25km O 0O0O0

(a) Look 1 OO

(b) Look 2 0O

O 5.1: 00000 Radarsat OO
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5.2.1 Radarsat O OQOQOO0O

0000 Radarsat 0000000000 510000 100002000000 10x1000
000 moving windowO ODDODODOO00O0OD0D0O00 n=4020000000000n=4
000000000000 »n=50000020000000000000000 1.000200
gogooo600000 119770 00000000DOODOODO0OODOO n=4000 1.04270
n=500001.03300000000000000000000 520004000000
O O scene-A scene-BO scene-COscene-D 00000 53000 560000000000 20
0000000 s700051000000004000000000000 10000
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0 5.3: scene-A0ODODOO
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0 100 200 300 400 500 600 700 800 900

()00 n=4000

o] 100 200 300 400 500 600 700 800 900

(b) 00 n=5000

O 5.7: scene-A 0 20000
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()00 n=4000

o] 100 200 300 400 500 600 700 800 900

(b) 00 n=5000

0O 5.8: scene-BO 20000
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()00 n=4000
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(b) 00 n=5000

O 5.9: scene-CO 20000
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O 5.10: scene-D O 20000
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Radarsat OO0 OO 0O0OO0ODOOOOODOOODOOOOOOOOOOODOOOOOOOOD
oboboboooooo200b00bobooboobobobog

g s.l1l: 00boooobogog

aUb0dcO0dOUOOOOODOOOOO ship-alship-bU ship-cOship-dOOO0O0OO0O0OODO
gbooooogobobooooooogobooboobobobooobooooooobobobo
oboobobobooooooboboobobooo

1. 05120 0000000000000 0000O0000O0OO0O0DOO0OOOOOOODODOO
00 Ip(X,)0D0 1000000000 Ipn(X,—1)0ODOODOO0O0OO0OO0OdOOo0oO

2.000d00000Rn:(0<n<1)00000O

3. X,00000000000 I4(Xy)=Ip(X; —1)+nd0000
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4. 0000O00bOO0bO0obO0ob0ob0bO0obOobOobOobOobOoDboD

5. n 0000000000000 DLOO0bOO00bDbO0o0bOoOOn

It (%)

e nd e — e o
1

Ir (X -1) —|

Ki-1 % X

() 00000000 () 0DOODOOO

0 sl12:. 00000000000

00000513000 516000 (a)0(b)00000000000000000 (¢)d(d)
000000000000000000000000000000()0 (400000000
00000000000000000000000000
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10 20 30 40 50 60 70 80 90 100 10 20 30 40 50 60 70 80 90 100

(a)

10 20 3 40 50 60 70 80 9 100

(c) (d)

0 5.13: shipaDOO0OOD00D0000 (a0b)000000000000000000000O
000 (cdd)
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10 20 30 40 50 60 70 8 90 100

10 20 30 40 50 60 70 8 90 100

(a) (b)

10 20 30 40 50 60 70 80 9 100 10 20 3 40 50 60 70 80 9 100

(c) (d)

0 5.14: shipb0OOOOD0O0DO00 (20b)000000000000000000000O
000 (cdd)

63



\

10 20 30 40 50 60 70 8 90 100 10 20 30 40 50 60 70 8 90 100

(a) (b)

10 20 30 40 50 60 70 80 9 100 10 20 30 40 50 60 70 80 9 100

(c) (d)

0 5.15: shipc00000000000 (0b)000000000000000000000O
000 (cdd)
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10 20 3 40 50 60 70 8 90 100 10 20 30 40 50 60 70 80 90 100

(a) (b)

10 20 3 40 50 60 70 80 9 100 10 20 30 40 50 60 70 80 9 100

(c) (d)

0 5.16: ship-d 00000000000 (20b)000000000000000000000
000 (cdd)

U00o0boopbobbod8x800U000 moving window OO ODOOOOUOOOOOO
Ub00On=100 n=400000000000 2000000000000 5200000
000000000000 517000 5200000 (000000000000 0O0OO (b)
O0000000000000000000000(c)00 (f)OD0O00 n=10n=20n =30
n=4000000002000000000
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(a) J000D00ODOO0ODOODOO (hyDOOOODDOOOOoDOoOOOo

(e) n=3 (f) n=4

05100000000 ship-aD0O000 200000
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(a) J000D00ODOO0ODOODOO (hyDOOOODDOOOOoDOoOOOo

(e) n=3 (f) n=4

0518 00000000 ship-bO000O0OO0 200000
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(e) n=3 (f) n=4

0519 00000000 ship-cOODOOO 200000
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(e) n=3 (f) n=4

0520 00000000 shipdOOOOO 200000
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O5.170shipal0000000OO0DOO0OO0ODOOO0OOO0OO,=40000000000
oobOooooobooooooooboobobooDboOoDOo0D 5180 ship-bOn=300
gboooooooboooooobobobo2bgbo0oboboooobDobDobobobobn
ooobOoooooobboooboooooooobooooDoboOonD 5190 shipcOOOn =3
goboobobobooboobooboobooooboobooobobobooboobodbdn=4
oboboooboboboobbobobobooboboobobUobUong b.200 shipdd OO
n=40000000000000000

Us200000000000000000000000000

mean std odd | n=1|n=2|n=3 | n=4
ship-a | 1.0062 | 0.0123 | 1.0750 | 1.0185 | 1.0307 | 1.0430 | 1.0533
ship-b | 1.0046 | 0.0120 | 1.0488 | 1.0148 | 1.0250 | 1.0352 | 1.0454
ship-d | 1.0070 | 0.0133 | 1.0764 | 1.0023 | 1.0335 | 1.0468 | 1.0601
ship-c | 1.0054 | 0.0121 | 1.0596 | 1.0175 | 1.0296 | 1.0417 | 1.0538

70



el UU

gboooooobobooooooogobobooboooooooobobobobobn
oobooboboOoooooobboboboobbooboobobbobboObOd moving window U
U000 0000bUobdbi0b Radarsat DO OO OO0 OOO0OO0OOOODOOOOO
oooooo

1. d0gooooboboboooooboboboooobooooboboboboboboo
gbobobobobobobobobobo

2.2x20020x20000000000000000000 moving window 0 OO OO
gbooooboobooooobobobooboboboobooobobobooooon
oon

3. 0000000000 moving window O ODODODOODODOODODODOOOO
oooboboboboboboobo

4. 0000020000000000000D0D00OO0OODODODODOOODODOO
gobobobobobobobobobobobooboboboboobooboLoOoon

5. Radarsat U0 0 O 0OO00OOO0ODOOOO0OOO0OOOOODOOODOOOODOOOOO
ooobobobobuoboboboboo

6. DO0DOOoOooDobOooooDbooooboooobooooboooobboooobooboooon
gobooboooboboooboboobooboobbobbgoo

booobooobooobobooobuoobooboboobooboooboobooooan
gbooooboopoobooobobooobooboobbooboobobogbb 1oxio0onoO
O000 moving window D OO OO0 OO Omoving windowOOOOOOOODOOOOOOO
gbobooobooobooobboboboo 1ox1obooboooooooobooboooon
gobooboogbooooboo

OO0 Radarsat DO OO OODOOO0OO0OOOOODOOOOODOODOOOODOOODO
gbooboobooopooboobobooobooboobboboobooobbobobooboonon
gbooboobooopooobooboobooboobooboobooobooobobboon
gbooboooooooooooog

00000000000000000000000000000000000000 (Sea-
truth) 0000000000000 00000000000000O000000oOOoo0ooOg
goooooog
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0 OA 00000

gbooboooz260000000000000000000000O0OO

Er(7) = /_00 Es(t + 7)E,(7)dr

= / Ejexp (ia (r+7" - 2R0/C)2) rect(r/7) exp(—iar?)dr

1 T0/2

[i?a(T’ —2Ry/c)

exp (i2a (7" — 2Ry /c) 7'):| s

exp (ia (7" — 2Ry /¢) T9) — exp (—ia (7" — 2Ry /) 7'()))
21

aty(1" — 2Ry /)

?) sinc (aro (7' — 2Ry /c)) (A.1)

= Eyrpexp (ia (T' - 2R0/C)

72



OB 000000

gbooboo21vobooogogoogoooboooobooooooobooogoonn

)= [ Bt + B, (t)dt

= Fyexp(—i2kRy) / exp (—z’ﬁ (t+ t')2) rect(t/Tx) exp(iBt*)dt
= Fyexp(—i2kRy) exp(—ift™?) / rect(t/Ta) exp(—i23t't)dt
Ta/2
= Fyexp(—i2kRy) exp(—ift™?) / exp(—i2t't)dt
T2

1 Ta/2

- exp(—i26t't ]
123t ( ) T2

_ Eyexp(—i2kRy) exp(—ift"?) <— exp(—ift'Ta) + exp(z’ﬁt’TA)>
B Bt 2

= EyTa exp(—i2kRy) exp(—ift™?)

= Fyexp(—i2kRy) eXp(—iBta) [_

sin(BT at")
BTat!

= EgT 4 exp(—i2kRy) exp(—ift"?)sinc(BTat")

= Ejexp(—i2kRy) exp(—ifBt"?)sinc(BT at")
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0 O0C O00Ooooooognd

gboobooz22e00000000000000000000000000OO

B (1) = /_ Y B+ ) EW (1)t
— g / 7 exp @—w (t+ t’)2) rect ((t — Ta) / (Ta/N)) exp(iB2)dt

= Ej exp(—ift”?) /00 rect ((t —Ta) / (Ta/N)) exp(—i23t't)dt

Ta/(2N)+T,

= Ej exp(—ift?) / exp(—i26t't)dt
—Ta/(2N)+Tn

Ta/(2N)+Tn

= Ej exp(—ift”?) [— exp(—iZﬁt't)]

1
i2pt _Ta/(2N)+T,

— E‘,’exg(—w ( — exp (—z’Zﬁt’ (% + Tn>> +exp (—iZﬁt’ (—% + Tn>> )
_ Ejexp(—ipt”?) exp(—i2T,t') (— exp (—ifBt'Ta/N) + exp (i5t'Ts /N))
N Bt 2i

= By (T /) expl—i51) expl-i20T,) AT

= Ey(T4/N) exp(—ift”?) exp(—i28Tt")sinc (%t')

= Ej exp(—ift?) exp(—i26T,t')sinc (%t') (C.1)
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O OD 0OO0ogood

0000000000000 00000000O0000O0O000DO0D0DOL0O Auto-Correlation
Function: ACFOOUOUOO0O0O0OOOOO0OOOOOOODODOOOOOOOO(OOOOO)O
O00000000000000000000000 g(z)0d ACFO

oo
Cola) = [ gla) g’ (o -+ ') (.1)
—00
000000000 «000g(x) 0000000000000 0O0O0O0OOODOO0OOOOOO
D.10000Z =000000000000000000000000O0O0OO0O0OOOO0O
0000000000000 00000000 0000000 0O00DoDUooooO (boo
0)ooooooo
goboodobobooobboooboboobbooobbooobbooobbon
doooooooobooooooboooooooooooooooo

Cog = FT™{FT{g} - FT{g}"}
O0g¢g0ooboobO0GOUOObOO0OGUDLOOOD GgrOo0bOOo0oOo0 eerooobooDboo

O0Dg¢gO0OO00OO0OOCODOOODOOOOODOOODOODOOONAO Cross-Correlation Function:
cecroooboooooooooboooobo200bb0bobooboDbOOoDbon
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O OE 0OO0O0O0O00000

O000O00O0DOOensemblemeanO0 0000000000 OOODOOOO0O0OOOOOOOO
gddobooodoooouoouobooodooooooooobooooooooooon
goooooooooon
00000000000 g(«)00000000000000 [—20/2, 20/2] 0000
1 zo/2

(9)s = — g(z)dx (E.1)
Lo J—xo/2

D000D0000000000000000MO000
1 M

(g)s = =7 > 9(w)) (E.2)
j=1

obobob0obobobobobobobobUobOobUobUoUsample meanD O OO0 O
ubooboboooobooboboboooooobobobobonooooobooboobon

1 x0/2

(0) = tim_— [ R (E3)
1 M

(g) = lim — ; g(;) (E.4)

O0000g(x)000000000D.IOD0O0O0O0O0O00O00O0O0DODOOODODOOO

Cog(z) = (9(x)g" (z + "))

/00 g(z)g* (z + 2')dx (E.5)

—00
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O 0OF O0000000000boogogn
oot

%following have to be an even number!
n=128; Y%size of scene

m=20; %number of scatterers

1=2; Ysize of target

tmag=1; Ymagnitude of target

%make random phases
ranl=rand(n,n,m)*2x*pi;
ran2=rand(n,n,m) *2*pi;

ran3=rand(1l,1,m) *2*pi;

%make random complex value
complexranl=exp(i*ranl);
complexran2=exp(i*ran2);

complexran3=exp(i*ran3);

%clear unused variables

clear ranl ran2 ran3

%sum scatterers
sumcomplexl=sum(complexranl,3);
sumcomplex2=sum(complexran2,3);

sumcomplex3=sum(complexran3,3)*tmag;

Y%clear unused variables

clear complexranl complexran2 complexran3
%add target
targ_begin=(n/2)-(1/2)+1;

targ_end=targ_begin+l-1;

targ_sum_complexl=sumcomplexl; %temporary

targ_sum_complexl(targ_begin:targ_end, targ_begin:targ_end) = sumcomplex3;
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targ_sum_complex2=sumcomplex2; %temporary

targ_sum_complex2(targ_begin:targ_end, targ_begin:targ_end) = sumcomplex3;

Y%clear unused variables

clear sumcomplexl sumcomplex2 sumcomplex3

%get intensity

targ_intensityl = abs(targ_sum_complexl)."2;

targ_intensity2 abs(targ_sum_complex2)."2;
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[0 0OG moving window OOOOGOOGOMO
Oooodn

%following have to be an even number!
n=128; Y%size of scene

ws=10; Ymoving window size

winl=zeros(ws,ws);

win2=zeros(ws,ws);

output=zeros((n-ws+1), (n-ws+1));

for mwy=1: (n-ws+1)
for mwx=1:(n-ws+1)

%moving window position
xstart=mwx;
xend=mwx+ws-1;
ystart=mwy;

yend=mwy+ws-1;

winl=targ_intensityl(ystart:yend,xstart:xend); %Il
win2=targ_intensity2(ystart:yend,xstart:xend); %I2

% cross correlation
f1=fft2(winl);

f2=fft2(win2);

xc=(1/ws) "2xifft2(f1.*conj(£2));

xc=abs(xc);

% mean

il=mean2(winl);
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i2=mean2(win2);
ccf=xc/(i1%i2); %Cross-Correlation Function
output (mwy ,mwx)=ccf(1,1); %Cross-Correlation value

end

end

% make image

figure

clf

imagesc (output)

axis square

title([’cross-correlation image’,’ W-size ’,num2str(ws)])

colormap(gray)
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O UH 0O0000z200000000¢0

% do thresh hold
thresh_number=2; %value of n

ccimean=mean2(output); %mean of Cross-Correlation image
ccistd=std2(output); ’std of Cross-Correlation image
th_hold=ccimean+(ccistd*thresh_number); %thresh hold value

threshout=output>th_hold; %do thresh hold

% make image

figure

clf

imagesc (shout)

axis square

title([’ Thresh-hold X’ ,num2str(thresh_val)])
colormap(gray)
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U 0OI 4000000000

(a) Look 1 00O (b) Look 2 O O

OL1: 0000000000 scene-A

(a) Look 1 OO (b) Look 2 0 O

0120000000000 scene-B
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(a) Look 1 00O (b) Look 2 O O

OL3: 0000000000 scene-C

(a) Look 1 OO (b) Look 2 0 O

UIL4: 0000000000 scene-D
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